



Vendor Ranking

**Letting:** 01191205 December 05, 2019 11:00 AM  
**Call Order:** 003  
**Contract:** E1T22  
**District:** District 1  
**Counties:** DIST/ST-WIDE, HIGHLANDS  
**Fed Aid No:** N/A  
**Contract Time:** 365 AVAILABLE DAYS  
**Project(s):** 43272617250 (\*)  
**Contract Desc:** Drainage Repairs-US 27

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	JRM CONSTRUCTION GROUP INC	Responsive	Winning bid	\$51,250.00	100.00%
2	COBB SITE DEVELOPMENT, INC	Responsive	Non-Winning Bid	\$59,839.94	116.76%
3	WRANGLER CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$95,450.00	186.24%
4	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$130,866.00	255.35%
5	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$133,850.00	261.17%
6	PROFESSIONAL SERVICES GROUP, LLC	Responsive	Non-Winning Bid	\$149,974.25	292.63%

*NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.*



Tabulation of Bids

**Letting:** 01191205 December 05, 2019      **Call Order:** 003      **Contract:** E1T22  
**District:** District 1      **Counties:** DIST/ST-WIDE, HIGHLANDS      **Fed Aid No:** N/A  
**Contract Time:** 365 AVAILABLE DAYS      **Project(s):** 43272617250 (\*)  
**Contract Descr:** Drainage Repairs-US 27  
 The work under this Contract consists of Drainage Repairs (US27).

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) JRM CONSTRUCTION GROUP INC		(2) COBB SITE DEVELOPMENT, INC		(3) WRANGLER CONSTRUCTION INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 SODDING (SY)</b>								
0005 0425 1529 INLETS, DT BOT, TYPE C, MODIFY		1.000 EA	6,500.00000	6,500.00	7,790.40000	7,790.40	4,500.00000	4,500.00
0010 0425 11 MODIFY EXISTING DRAINAGE STRUCTURE		2.000 EA	3,800.00000	7,600.00	1,554.64000	3,109.28	6,000.00000	12,000.00
0015 0430174136 PIPE CULVERT, OPTIONAL MATERIAL, ROUND, 36"SD		120.000 LF	120.00000	14,400.00	189.42000	22,730.40	450.00000	54,000.00
0020 0430611129 U-ENDWALL WITH BAFFLES, INDEX 261/430-011, 1:4 SLOPE, 24"PIPE		2.000 EA	3,500.00000	7,000.00	7,449.09000	14,898.18	5,000.00000	10,000.00
0025 0430984138 MITERED END SECTION , OPTIONAL ROUND, 36" SIDE DRAIN		1.000 EA	3,100.00000	3,100.00	6,384.36000	6,384.36	3,000.00000	3,000.00
0030 0524 1 29 CONCRETE DITCH PAVEMENT, 4", REINFORCED		4.500 SY	200.00000	900.00	490.07000	2,205.32	2,000.00000	9,000.00
0035 0570 1 2 PERFORMANCE TURF, SOD		100.000 SY	5.00000	500.00	9.70000	970.00	7.00000	700.00



Tabulation of Bids

Letting: 01191205 December 05, 2019 Call Order: 003 Contract: E1T22

Line No / Item ID Item Description <i>( ) indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) JRM CONSTRUCTION GROUP INC		(2) COBB SITE DEVELOPMENT, INC		(3) WRANGLER CONSTRUCTION INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 SODDING (SY)</b>								
0040 E110 70 REMOVAL OF FLEXIBLE PAVEMENT		75.000 SY	150.00000	11,250.00	23.36000	1,752.00	30.00000	2,250.00
<b>0001 SODDING (SY) Section Totals:</b>				<b>\$51,250.00</b>		<b>\$59,839.94</b>		<b>\$95,450.00</b>
<b>Contract Grand Totals:</b>				<b>\$51,250.00</b>		<b>\$59,839.94</b>		<b>95,450.00</b>



Tabulation of Bids

Letting: 01191205 December 05, 2019 Call Order: 003 Contract: E1T22

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC		(5) MIDWESTERN CONSTRUCTION, INC		(6) PROFESSIONAL SERVICES GROUP, LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 SODDING (SY)</b>								
0005 0425 1529 INLETS, DT BOT, TYPE C, MODIFY		1.000 EA	15,000.00000	15,000.00	16,500.00000	16,500.00	24,000.00000	24,000.00
0010 0425 11 MODIFY EXISTING DRAINAGE STRUCTURE		2.000 EA	15,000.00000	30,000.00	17,000.00000	34,000.00	10,000.00000	20,000.00
0015 0430174136 PIPE CULVERT, OPTIONAL MATERIAL, ROUND, 36"SD		120.000 LF	300.00000	36,000.00	225.00000	27,000.00	200.00000	24,000.00
0020 0430611129 U-ENDWALL WITH BAFFLES, INDEX 261/430-011, 1:4 SLOPE, 24"PIPE		2.000 EA	15,000.00000	30,000.00	13,500.00000	27,000.00	10,000.00000	20,000.00
0025 0430984138 MITERED END SECTION , OPTIONAL ROUND, 36" SIDE DRAIN		1.000 EA	6,000.00000	6,000.00	6,500.00000	6,500.00	7,500.00000	7,500.00
0030 0524 1 29 CONCRETE DITCH PAVEMENT, 4", REINFORCED		4.500 SY	1,000.00000	4,500.00	1,800.00000	8,100.00	9,000.00000	40,500.00
0035 0570 1 2 PERFORMANCE TURF, SOD		100.000 SY	18.66000	1,866.00	35.00000	3,500.00	8.50000	850.00
0040 E110 70 REMOVAL OF FLEXIBLE PAVEMENT		75.000 SY	100.00000	7,500.00	150.00000	11,250.00	174.99000	13,124.25
<b>0001 SODDING (SY) Section Totals:</b>				<b>\$130,866.00</b>		<b>\$133,850.00</b>		<b>\$149,974.25</b>



Tabulation of Bids

Letting: 01191205 December 05, 2019 Call Order: 003 Contract: E1T22

Line No / Item ID Item Description <i>( ) indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(4) ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC		(5) MIDWESTERN CONSTRUCTION, INC		(6) PROFESSIONAL SERVICES GROUP, LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>Contract Grand Totals:</b>				<b>\$130,866.00</b>		<b>\$133,850.00</b>		<b>149,974.25</b>



Tabulation of Bids

---

**Letting:** 01191205 December 05, 2019 **Call Order:** 003 **Contract:** E1T22

*NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.*